SET -A

QUESTION PAPER FOR LDCE 16.66% PROMOTIONAL EXAM OF MINISTERIAL
CATEGORY IN LEVEL-2

FULL MARKS-100 (each question carry 01 marks) TIME- 02 Hrs.

PART-A (English Language)

Find the correctly spelt word
A. Adulation

B. Adlation

C. Aduletion

D. Adulatien

Find the correctly spelt word
A. Affedevit

B. Afidevit

C. Affidevit

D. Affidavit

Find the correctly spelt word

A. Excessive
B. Exccessive
C. Exxcesive
D. Excesive
There are views on the issue of giving bonus to the employees.
A. Independent
B. Divergent
C. Modest
D. Adverse
He has people visiting him at his house because he fears it will cause discomfort
to neighbours.
A. Curtailed
B. Requested
C. Stopped
D. Warned
Rama took his _______ for the wrong done to him.
A. Avenge
B. Vengeance
C. Revenge
D. Ravage

Correct the underlined part of the following sentences (Q.No. 7 to 9)
7. The small child does whatever his father was done
. Has done
Did
Does
Had done




8. The man to who I sold my house was a cheat

A
B.
C.
D.

To whom I sell.
To who I sell
Who was sold to
To whom I sold

9. He is too important for tolerating any delay.

10.

11,

12

13

15.

16.

17.

A
B.

To tolerate
To tolerating

C. At tolerating
D. With tolerating
He gave a talk the cause of dengue fever.

A.
B.
C.
D.

of
On
For

off

The kitchen is ==------- the back of the house.

A
B.
C.

About
In
of

D. At
. The child died Cholera.
A, At
B. For
C. Of
D. With
. Catching the earlier bus will give us the to do some shopping.
A. Chance
B. Luck
C. Possibility
D. Occasion
14 Isawa___ of cows in the field.
A. Group

B.
C.

Herd
Swarm

D. Flock

The grapes are now enough to be picked.
A
B.
C.
D.

Ready
Mature
Ripe
Advanced

Choose the synonym of the word MASSIVE

A
B.
C
D.

Lump sum
Strong
Gaping
Huge

Choose the synonym of the word DEFER

oow>

Postpone
Defy
Indifferent
Differ




18.

19.

20.

OO ®>»

Choose the synonym of the word CANCEL
A. Abolish

B. Approve
C. Allow

D. Break - ‘
Select the pair from the options which has the same relationship

PAIN : SEDATIVE
Comfort : Stimulant
Grief : Consolation
Ache : Extraction
. None of these
Select the pair which has same relationship
LIGHT : BLIND
Speech : Dumb
Language : Deaf
Tongue : Sound
Voice : Vibration

R R o

PART B (Arithmetic and GK pertaining to Railways)

21. The average of first five multiple of 9 is 2(E&aT 9 & YA 5 VI &1 A FIT g

22.

23.

20
27
28
30

ZRAE B

T YT Y IFAR ARTR & FAPRIS S # 100 fafveer §, Stafe arod 3 aa7

ZEdr AR 150fF/Eer &, ar qff amar & aNre sadh Hed IFAR F=4T § 2
The speed of a train going from Nagpur to Prayagraj is 100 Km/hr, while coming back
from Pryagraj to Nagpur its speed is 150 Km/hr. Find the average speed of the train

during the whole journey.

A. 125 Km/hr

B. 75 Km/hr

C. 135km/hr

D. 120 km/hr

A, B 3T C @ 3Ad aoiet 45 Kg & | 3 A 3R B &T 3ad asieT 40 kg § auT B
3T C &7 3ad g 43 kg &, @ B & doff ql |

The average weight of A B and C is 45 Kg. If the average weight of A and B be 40 Kg
and that of B and C be 43 Kg, then weight of B is ?

A. 17 kg

B. 20kg
C. 26kg
D. 31kg



24.2000 ¥9% & Hua W 5% aifa sursr A & W 02 avt & AT FUROT w7 Fur
THRAf s &1 faw F4r g 2
Find the difference between the simple and the compound interest at the rate of 5%
per annum for 02 years on a Principal of Rs. 2000/-
A. B5Rs
B. 105Rs
C. 45Rs
D. 55Rs
25, WIURWT S50 A & T Y A 02 vt 3 1200 w2 # W a5 FT 1440 @ el ¥ |
Find the rate of interest, if the amount after two years of simple interest on a capital
of Rs 1200 becomes Rs 1440
A. 8%
B. 9%
C. 10%
D. 11%
26.1000m$mw20%qﬁa\s‘rﬁmaw18n€m’f$fatraarqﬁana£r
IO F, uﬁ:m@rmmmwﬁmm
Find the compound interest on Rs 1000 at the rate of 20% per annum for 18 months
when interest is  compounded half yearly.
A. Rs 1331
B. Rs331
C. Rs320
D. Rs 325
27. A HEAC 1:2:3 & 3Ha F & AT ST AgdH FAGTH (HCF) 12 §, ar gEar Fam)
Three numbers are in ratio 1:2:3 and their HCF is 12, the numbers are
A. 12,2436
B. 11,22,33
C. 122432
D. 5,10,15
28. fordlt odte & 80% faeardf 3 fawy & o @ &, T 85% facardt afora fawy o

9 I &, A 73% facamdt et vt # or @ €, & Bhae g Rt @t
fawgt # b 1T ¥ |

In an examination 80% candidates passes in English and 85% candidates passed in
Mathematics. If 73 % candidates passed in both these subjects, the what percentage of
candidates failed in both the subjects.

A 8% B. 15% C. 27% D. 35%




29.

30.

3L

32.

33.

3T 9fdera & gewea & FY RAd 2

Half percent, to be written in decimals as -
A 02

B. 0.005

C. 002

D. 005

TR ATET A e, wfad 4% A @ ¥ 75 @ ¥, 9 swR adHE e 50,000
e @ & avt & a7 s et Far gt 2

The population of a town increases every year by 4%, If its present population is 50,000,
then after 02 years it will be ?

A. 53,900

B. 54,000

C. 54,080

D. 54,900

U HSTHA F 2850 T # ITN W UF GHGR F 14% T o gT &, IR 9§ AT
T G Y 8% F ol ¢ o 3 iR &1 AT Heg &1 gnm 2

By selling a bicycle for Rs. 2,850, a shopkeeper gains 14 %, if the profit is reduced to
8%, then selling price will be .

A. Rs 2600

B. Rs 2700

C. Rs 2800

D. Rs 3000

T 3HTeAT a1 FHl IUAT B, TAF 1200 TG F [UF F a9 W IF 20 % F AT

BT & U7 gAY A AU W 3W 20% A FIl g ¥ vw ¥ @dg ar R F wwer ar
gifer &1 gfaRa Jav |

A man sold two chairs at Rs. 1200 each. On one he gained 20% and on other he losses
20%. In this transaction his total gain or loss is ?

A. 1% loss (81@)

B. 2% loss (g1f)

C. 4% loss (g1f)

D. 15% gain (T87)

RaFq ¥ &1 #18-

Find the missing term in the series
EARTH:HDUWK::VENUS:
A. YQXHV

B. YHQXV

C. YQHXV

D. YQHVX




34 R&a v & it -
What is the term in the given series-
4A,4Z, 12 B, 12X, 36 C-----
A 36W
B. 36Y
C. 36V
D. 36V
35. e wumer oy -
Find the missing term
172,343,102, 4 ------..
A. 204
B. 408
C. 256
D. 456
36. 3R TR Med 1 AT 20% gt ¥ A, 3HE Ry 10 % e o &, ar Fe T IR

R FHH FAT Gh TG (FIM/EET) |
If the price of groceries increased by 20%, its sales decreased by 10%, what will be the
effect on turn over (Increases /decreases).
A.5%
B. 8%
C.55%
D. 20%
37. 3R 6x6=33, 8x2=41 3R 4x5=225, @Y 8x6=?
If 6x6=33, 8x2=41 and 4x5=22.5, then 8x6=?
A.24
B. 43
c.38
D. 03
38. TR 3Pl I FaH T3V FEAT ¢ ST 49 & 9t g faosT @) 2
What is the greatest 04 digit number which is exactly divisible by 49.

A. 9992
B. 9996
C€.9994
D. 1998
39. 48, 60 &1 faraar gfaerd g ?

48 out of 60is_____what %
A 78
B. 75
C 80
D.72




40. 3 2.5 foh Star 71 aqou 78.60 wA ¥, A 55 Reclt A7 F Hew FAT g 2
If the cost of 2.5 kg of homemade Jam is Rs 78,60, what is the cost of 5.5 kg of jam?
ARs 17392
B.Rs 17192
C. Rs 17292
D. Rs 17492

41 AT YT W g ey wize ¥ |
How many divisions are there on Indian Railways

A. 66
B. 65
C. 68
D. 70

42. AR I R FoT e et & |

how many Zones are there on Indian Rai lways ?

A. 18
B. 16
C 17
D. 19
43. Where is RDSO located
RDSO gl ud §
A. Rai Bareli (I a¥el)
B. Jaipur (SAR)
C. Bhopal (3ir9Ter)

D. Lucknow (97@«3)

44. 99 T YT 1 AT Fgl AT §
Where is the headquarter of the East Coast Railway is located
A.Puri (701
B. Cuttack (&hch)
C. Paradeep (9RTEM)
D. Bhubneshwar (3]81%aR)
45. vy va 9 & qof &9 FATE ?

What is the full form of SLP
A. special Leave Petion ( ¥Jrel ofld 9feHeT)

B. Supplementary Leave Petition (Fceliddr fora afewer)
C. Sundary Leave Petition( He{ foa afeweT)
D. None of these( 37 & #I1g &l )




46. L N vH M & PDygFa IRHS it A ufdreror el e & 2
What is the training period of IRHS officers selected through UPSC

A. 12 months/Rfgar
B. 06 months/afgar
C. 18 months/®fRRar
D. 9 months/AfgaT
47 30 W Fax Wod sRdr g ¥ 2

Total number of Railway Recruitment Board ?
A 21
B. 20
C. 19
D. 22

48. ¢ &1 RifA9e §T Fgf & 2 Where is the Principal
Bench of CAT located
A. Mumbai (H&3)
B. New Delhi (7% feelr )
C. Chennai (I=13)
D. Kolkata (IehraT )
499X & TUH T AN Pl ¥ ?
Who is the first Railway Minister of India
A. Lal Bahadur Sastri (eTe agTgy 2mE )
B. Yaswant Rao Chauhan (I2@d @ algr )
C. Krishna Menon (FS0T #Helel )
D. John Mathai (SiTeT #7UTS)
50. fore e H AT STl {od F 3 FarY Rua g 2
Which city has 03 Zonal Railway Headquarter
A. Kolkata (STehrd)
B. Mumbai (H&3)
C. New Delhi ( 77 f&oelr )
D. Secunderabad ( fAFETE )
51. Rd # Ugell oliaged oo dhd oy AT |
When was the first Electric train introduced in India ?
A.03.02,1925
B. 01.01.1926

C. 25021927
D.25,02.1928




52. 8 WA 9 Yo & A A & Yo et
Which station has all three gauge lines
A. Howrah (gTa3m)

B. Siliguri (Rfeeyd
C. Varodra (33)e)
D. Mumbai (%)
53. TRCl U TN ¥ FET ¥ gt @ awns
First Shatabdi express train was run between i 1O, Sations.

A. New Delhi to Jhansi (g Ree & &)

B. New Delhi to Bhopal ( # el & siarer )

C. New Delhi to Kanpur (=g fewell & HAR)

D. New Delhi to Kalka (7 feel & e )
54 #se AT B el ¥

Modern Coach factory is located at

A. Rae Bareli ( T &% )

B. Chapra (B9 )

CKapurthala (FqxYer )

D. Chennai (¥+=15 )
55, g 99 U T R iR g T & &g gomdY Y |

First garib rath was run between to station
A. Pune to Nagpur ( g9 & #TIR)

B. Muzaffarpur to Anand Vihar ( HSTFHRER & HEiaeR )
C. Saharsa to Amritsar( HgTEHT ¥ IHFTH)
D. None of these ( 3% & @15 AgT )
56. OBC 33t & del sl ler # s 37 @ & frcelr g & e ¢ |

What is the relaxation of age limit for direct recruitment for OBC candidates
A.03 years/ a¥

B. Ol years/ a¥
C. 04 years / a&
D 05 years/@¥
57.6r.D ST Level-1(GP 1800) # g1 & 3eiahT ﬁﬂgﬁ-ﬁ TIOSRT i 81 &

Who is the appointing authority for Gr. D in Level-1 (GP 1800) ?
A. Junior Scale Officer/ S{faa¥ &hel Oy

B. senior scale of ficer/ afia ada#Ta 3TTeraRIY
C. JAG of ficer/ &fass yemeIfae adaATA31TeRRT
D. None of these/ 398 & &g Al




58. RRB & Wt oreft der &t Reave ulierss (daer 3) # o7t & wfererer #7ar &

What is the % of direct recruitment (RRB) for Ticket Examiner (TE) in level 3
A. 50%

B. 80%
C.25%

D. None of these 38 & # gt

59‘mmmwmwmmamaﬁg¢cﬁmm g & ?

How many candidates can be appointed through Scouts and Guide quota in Gr.C per year per
zonal Railway

A.02
B.01
C.03
D.04
60 RARENTT e & ardf 8 Afdewd Feardy FT ¥
- What is the medical category classification for Ministerial Staff in Railways
A. Cee-One
B. Bee-two
C. Cee-two
D. none of these
61. UF Ay IHUHdH fhaa et #1 amr smar &7 g
For how many days TA is payable in one time
A. 180 days/ e
B. 120 days/ &t
C. 130 days/ f&=1
D. 150 days/ f&=
62. 8 FA & JUR W AT ddd  daa &1 fAuRor fFar smar & 2
Under which rule fixation of initial Substantive Pay is allowed ?
A. 1313 (FR-22)
B. 1314 (FR-22A)
C. 1312 (FR-21)
D. 1311 (FR-20)
63. NPS & & o] g3
NPS (National Pension system) was introduced on -
A.01.01.2004
B. 01.04.2004
€. 01,01.2005
D. 01.01.2006




64.7" CPC & HAWR st SareT Rreiell &7 Qe & 72
Minimum Pension Payable under 7' CPC

A. 7500

B. 9000

C. 3500

D. 12000

65. JAGH A e X FRUT IRy W ey wr anfRer R o TS E |
Including dependents how many members to be included in Privilege pass
A.5 members 5 He&g
B.2 members 2 ®eEg
C.3 members 3 ¥WeEw
D. 4 members 4 TeEw
66. 99 F TRl I & AHS F A Rar FY el 37 T QA AT ST FheT § 2

In case of son till what age can the parent be included in School Pass.
A.Up top 18 years 18 a¥ d&

B.Up to 15 years 15 a¥ d&
C.Upto2lyears 21 a¥ a&
D. None of these 3dAH & IS g
67. FaAR A 9 & fow fhaer ant i ée Jar A 3maegar @ ¥ |

What is the minimum qualifying service is required for eligibility of Complementary Pass
A. 20years/ a¥

B. 10 years / @¥

C. 15years/ a¥

D. 25 years / @¥

68. gu# Aol arg & faw T T & W& T 3w &1 fhdem wfaera sher smar & 2

What percentage of running allowance is calculated for running staff for first class pass
eligibility.

A.30%

B. 20%

C.10%

D. 15%
69. Az Tl YaUdH Fid @ Aed U & fov 97 g1ar §

Divisional Railway Manager is eligible for which Metal pass
A. Silver f8eat

B. Gold e
C. Bronze &T3f
D. None of these a8 ¥ &g g




70. X9 W FHaRal & wremit & fPranor & A @0fsa 49 @e & @y ard & dle
& el @

Name the machinery formed in Railways to maintain contact with organized labour to resolve
disputes

A.PNM / &t T T
B. PREM/ 97
C. SBF/ tq & tw

D. None of these/ 3a® & #1& 7g¥

71 TR BAd A JoR ST B PR &g F9 @ S fhaa wAA @ afRT
What is the minimum number of employee in a factory upon which appointment of Welfare
officer is must

A. 500

B. 250

C. 350

D. 450
72. Rif¥c @ fras et &1 &7 @ @

Paternity leave is granted for days
A. 15 days/ f&=1

B. 18 days/ f&a1
C. 25 days/ &
D. 30 days/ &t
73. U& aR H ¥0Fan frde AT &1 3 dtaa ada saerr g @ar § 2

Half leave on average pay (HLAP) can be granted for ______months at a time.
A.24 months/ A=

B. 12 months/ #fgaT

C. 06 months / Afg=T

D. 15 months / &Afgar
74.1000 #r.#. ¥ 3f0F gt W TR g W e A &1 Sisferer e 27 grar & 2
Transfer at more than 1000Km are eligible for days joining time .

A.12 days / &

B. 15 days / &t

C. 08 days / f&a¥

D. None of these/ /| 3487 & &1 g




75.UF TR FE X F I Roaat Rt Fr v daer @@ 7 @ ¥

Upon working of one months how many days of LAP is credited
A.05days /| R

B.35days / R
C.25days/ R«
D.4days / R&
76. R W S F o Rt Rt F1 R Gwwer o 7 @l & 2

CCL (Child care leave) can be granted up to days
A.735 days / et

B. 730 days/ &=t
C. 732 days/ f&e1
D. 731 days/ &=
77.06 AN FH FA W HIHRI T F frdar HLAP Hf3T g |
Upon working of 06 months how many days of HLAP is credited .
A. 10 days/ f&e
B. 15 days/ f&a
C. 20 days/
D. 30 days/ &
78. 3ar fagfd W ifRFan frasr et &1 3adrr aedeor &7 g 2
What is the maximum limit of leave encashment on retirement
A. 300 days/ &
B. 100 days/ f&e¥
C. 250 days/ &=
D. 150 days/ &=t
79. X ¥ar F1e # HOFaR fFaam MACP &3 g1 &

Maximum number of financial up gradations is allowed under MACP
A.03
B.02
C.05

D. 01
80, @ var u¥ RfFa &r o # Hfwan fhda #Q=r #r anticipated RfFaar ofr awer &

For selection posts anticipated vacancies should be taken up to
A. 15 months/ | AfgaT
B. 12 months / #Afgar
C. 18 months / Afgalr
D. 24 months / #fgar




81. Y 33 ¥ & T F FYAaH fhdar Haw g Wik
What should be the minimum difference between two trade test examination
A. 06 moths / #fgar

B. 05 months / Afgar
C. 08 months/ Hfgar
D. 12 months / #fgaT

82.SC Ud ST WHE™ ¥ Y@ # JHReror & e wAer: _ HR
Reservation for SC & ST communities in Railway recruitment is % &____%.respectively
A 15&75
B. 75&15
C.10&15

D. None of these
83. T WAMY # ~TaA fords HeHT gt @1fgT ?

Selection committee should consist of officers
A. Two/ ar

B. Three/ diet
C. Four / IO
D. One/ T&H
84. APAR T qUT &9 &7 & ?

APAR stands for
A. Annual Performance Appraisal report (TJ3iel THRAH el RIE )

B. Annual Personal Audit Report(Tej3rel ¥l 3fffde RaE )

C. All Performance Appraisal Report (3ol SRWIGHH 3idisier RAIE )

D. Account Performance Appraisal Report (3&3C WHIHE 3ol R )
85. TR ¥ @ & Ffer FHARY SBF # fhcielr IRM T 3referet &7 @ar & ?

what is the amount per employee given per year by the government in SBF

A. 500 Rs

B. 400 Rs

C. 200 Rs

D. 300 Rs

86. CAT & favig & fawey &gl Hdier &1 ST Fehel &
Employee can appeal in against decision/judgement of CAT
A. High Court/ 3Td =a1dTeid
B. District Court/ fSrerm #ararerd

C. Supreme Court/ Hdfed #aTgTeTg D. None of these/ &8 ¥ ®§ g




87. Yo VaT ITEROT AAH 1966 & IETHR Hewmeret e O Hher @1 fAzH F1 JeorveT g @
Charges for indiscipline are levelled under which Rule of Conduct Rule 1966 ?

A. fa#/Rule- 3(i) and (ii)

B. f@%#/ Rule 5

C. fATH /rule -15A
D. f&IH /Rule -7
88. . Yo Q@ HTERUT fAIH 1966 & HTER Movable 3R Immovable Fafer @ faawor fFe
s & aftia § 2
Under which Rule of Railway Services Conduct rules Movable and Immovable property is

mentioned.
A. f@T#/Rule 18
B. faT#/ Rule 17
C. @g#A/ Rule 19
D. @T#A/ Rule 22A

89, sewdrad ey &1 A DAAR faH 1968 ¥ 3t e B QAT §

____ form is issued to nominate Inquiry Officer under D&AR rules 1968.
A.SF-7
B. SF-5
C. SF-2

D. SF-11
90. D&AR faTH 1968 *aﬁmﬁmmw??

What is the time limit for appeal under D&AR
A. 45 days/ fea
B. 50 days/ f&=
C. 30 days/ f&eT
D. 60 days / &
91, tereT GURIGIOT &Y R AT FAT & ?

What is the maximum percentage for commutation of pension
A. 40% of pension / 92T &1 40%

B. 60% of pension/ 421l & 60%
C. 50% of pension/ J2re &1 50% of
D. None of these/ 378 & ®1g 6!
92, Frarferafer durt & fRctelr 3iéeh daT i RIS T §

What is the qualifying service for retiring pension
A. 20 years/ a4

B. 10 years/ ¥
C.30years/ @  D.25years/ a¥




93. yegrar fAYfFT ¥ A 37 WA Far € 2

What is the lower age limit for compassionate ground appointment normally.

A. 18 years/ a¥
B. 25 years / a¥
C. 20 years/ a¥
D. 21 years/ a¥
94, e YA W PNM & 3eTeT i g1 ¢

Who is the President of PNM meeting at the Zonal level
A .GM/ St TH

B. AGM/ TSTH
C. PCPOMARAY sad & FIS Fgr

95.memmmﬁmﬁmgam%

What is the age relaxation for ex-serviceman in recruitment from DR quota

A. Defence Service +03 years 3= ¥ar +3 a¥
B. Defence Service + 04 years ¥ a1 +4 a§
C. Defence Service + 05 years 3= a1 +5 a¥

D. None of these 38 & HI el
96. MACPS Toh e AreT & dTe] g3
MACPS was introduced by which pay commission
A.5™
B.6™
o
D. 4™
97. PNM &r Q0T &7 &1 § ?

what is full form of PNM
A. Permanent Negotiating Machenery (FuT$ ardt a7 )

B. Proper Negotiating Machenery (STaR ardr a7 )
C. Partial Negotiating Machenery (91f¥aer arT & )
D. None of these 38 & &g 6l

98, Q& LT Y & Al AUF: F AH FT &

Name the present GM of ECR
A. Sri Tarun Prakash 4T T80T WehTel

B. Sri AK. Khandelwal #T ¥ &. @addrel
C. SriL.C. Trivedi #7 ver.dr. f3ady
D. Sri Anupam Sharma 4 3eq# 2T




99. NFIR faw=1 & faredy woracy ¢

By which organization NFIR is related
A. Hind Mazdoor Sabha fgve #Hsgy @wam
B. Bhartiya Mazdoor sangha $TRelITr #stegy &9

C. Indian National Trade Union Congress 3f33e siereter ¢35 gfaider idd

D. Indian National Congress 3f3aa aereer Hidg

100. Where is the headquarter of South East Central Railway is located

gfeor 9@ Aeg Yod F gEaeT wEf g ?
A. Bilaspur faemaqy
B. Hajipur 8TSiiqY
C. Jabalpur SEeqT
D. Secunderabad fAsereTg
101. 3§ 1976 # aIfdd FHET TTeIoT FATT & 3egey HlT & ?
A. A Agar
B. 3rcor fagrdy areradr
C. gfexT amefr
D. 397 ¥ FIS e
102. 3EUTES T T ISTHTST FAT § ?
A. 3¢
B. 373rSir
c. &
D. 3AH & FI$ G
103. g G dr Raw & AART 1T &
A. 12 fAareR
B. 14 fAdsx
¢. 18 fadsx
D. 38 & FI5 g
104, T HfOfagA 1963 Fa wNfea g3m ?
A. 1966
B. 1967
C. 1968
D. 1969
105. HRT HT &7 TTHTET FT § ?

A f&ér
B. f§dr va 3¢
C. e va s D. 377 A F1 aAgY




106. ISTHINT ITANT & GUH Heqer Ff7 o 2
A &S @t
B. STATEX ATl g%
C. TSt THG
D. §1H & S 7Y
107.$am$mﬁw?a:mwm#qﬁra§r%aﬁmﬁmﬂa??
A TH
B. a
c. &=
D. IR
108. i e afdfa & smer AT T & 2
A. YT FAT
B. 7§ &
C. Tsgafa
D. 38 & F1$ FgT
109. ISTHTST dr FEET AATT & fhdet @e&g gld & ?
A. 30
B. 40
C. 50
D. 38 & F§ AL
110. TFHNT W af¥eh FAHA Pl T HIET IR FT § ?
A. T FIOT
B. facer #ITT
C. T AT

D. 38 ¥ F15 AET




SET-B

QUESTION PAPER FOR LDCE 16.66% PROMOTIONAL EXAM OF MINISTERIAL
CATEGORY IN LEVEL-2

FULL MARKS-100 (each question carry 01 marks) TIME- 02 Hrs.

Correct the underlined part of the following sentences (Q.No. 1to 3)
1. The small child does whatever his father was done
A. Has done
B. Did
C. Does
D. Had done
The man to who I sold my house was a cheat
A. To whom I sell.
B. To who I sell
C. Who was sold to
D. To whom I sold
He is too important for tolerating any delay.
A. To tolerate
B. To tolerating
C. At tolerating
D. With tolerating
The child died Cholera.
A. At
B. For
c. of
D. With
Catching the earlier bus will giveusthe ______ to do some shopping.
A. Chance
B. Luck
C. Possibility
D. Occasion
Isawa______ of cowsin the field.
A. Group
B. Herd
C. Swarm
D. Flock
7. Thegrapesarenow ______enough to be picked.
A. Ready
B. Mature
C. Ripe
D. Advanced
Choose the synonym of the word MASSIVE
. Lump sum
. Strong
. Gaping
. Huge




9.

Choose the synonym of the word DEFER
A. Postpone
B. Defy
C. Indifferent
D. Differ

10. Choose the synonym of the word CANCEL

11.

12.

13.

14.

15.

16.

A. Abolish

B. Approve

C. Allow

D. Break

Select the pair from the options which has the same relationship
PAIN: SEDATIVE

A. Comfort: Stimulant

B. Grief : Consolation

C. Ache: Extraction

D. None of these

Select the pair which has same relationship
LIGHT : BLIND

A. Speech : Dumb

B. Language : Deaf

C. Tongue : Sound

D. Voice : Vibration

Find the correctly spelt word

A. Adulation

B. Adlation

C. Aduletion

D. Adulatien

Find the correctly spelt word

A. Affedevit

B. Afidevit

C. Affidevit

D. Affidavit

Find the correctly spelt word

A. Excessive

B. Exccessive

C. Exxcesive

D. Excesive
There are views on the issue of giving bonus to the employees.
A. Independent
B. Divergent
C. Modest
D. Adverse




17.  He has people visiting him at his house because he fears it will cause
discomfort to neighbours,
A. Curtailed
B. Regquested
C. Stopped
D. Warned
18. Rama took his for the wrong done to him.
A Avenge
B. Vengeance
C. Revenge
D. Ravage
19. He gave a talk the cause of dengue fever.
A. Of
B. On
C. For
D. Off
20.  The kitchen is --------- the back of the house.
About
In
of
At

0w

PART B (Arithmetic and GK pertaining to Railways)

21. 1000 ¥ & AU W 20% S a¥ i s71e W W 18 A=t & v whgfer sarsr
IOTAT A, ARG AT HY AVEAT AR IUR W & AT @ |
Find the compound interest on Rs 1000 at the rate of 20% per annum for 18 months
when interest is  compounded half yearly.
A. Rs1331
B. Rs 331
C. Rs320
D. Rs 325
22. & FEAIC 1:2:3 & 3\d # §, JUr 3aT AgaA gAGTS (HCF) 12 §, ar §&ar /am)
Three numbers are in ratio 1:2:3 and their HCF is 12, the numbers are
A. 12,2436
B. 11,2233
C. 12,2432
D. 5,10,15
23, frdlr afvem # 80% fac@rdt 3 vy F o @ &, qur 85% fae@ndt aftva Rww

arg g1 &, afe 73% faeardt gt fawat # o gia €, ar fhae wfawra et et

faudt & T g1 & |

In an examination 80% candidates passes in English and 85% candidates passed in
Mathematics, If 73 % candidates passed in both these subjects, the what percentage of
candidates failed in both the subjects.

A 8% B. 15% C. 27% D. 35%




24,

25.

26.

27,

28.

e gferd & gaHea § $3 [ ?

Half percent, to be written in decimals as -
A 02

B. 0.005
c. 002
D. 005

Rl erex #r e, gfaad 4% @ ¥ 9@ @ ¥, AR FEA A e 50,000
g, ar &Y ast & ag 3uhr Fawear Far gl ?

The population of a town increases every year by 4%, If its present population is 50,000,
then after 02 years it will be ?

A. 53,900

B. 54,000

C. 54,080

D. 54,900

UH e A 2850 T F JT7 W Th gHER F 14% FT o gier g, Ife a6 39
AT T FX 8% W o ¢ ar 3 wsfaher &1 fash Hew Far g ?

By selling a bicycle for Rs. 2,850, a shopkeeper gains 14 %, if the profit is reduced to
8%, then selling price will be .

A. Rs 2600

B. Rs 2700

C. Rs 2800

D. Rs 3000

TS HeHY & FHT JUAT §, TAF B 1200 FIA F [T H F°A W 37 20 % T
BT & T gAY T quA W 3H 20% ¥ gifer gieh B v Q@ @l v fohr 7 wmy ar

gifer &1 gfaRrid aame |

A man sold two chairs at Rs. 1200 each. On one he gained 20% and on other he losses
20%. In this transaction his total gain or loss is ?
A. 1% loss (g1f)

B. 2% loss (g1fe)

C. 4% loss (g1feY)

D. 15% gain (<IT87)

Fa T & #1Y-

Find the missing term in the series
EARTH:HDUWK::VENUS:

A YQXHV

B. YHQXV

C. YQHXV

D. YQHVX




29. Req ¥urer 7 8 -

What is the term in the given series-
4A,4Z, 12 B, 12X, 36 C-----
36W

36Y

36V

36V

o H e

30. Raad Tua &1 oY -

Find the missing term
172,343,102, 4 --------
A. 204
B. 408
C. 256
D. 456
31 3R R T FT AT 20% Fgar § o, IEH A 10 % e S B, A FoF @ IR
W SHHT T Beh TSI (FSIM/ETA) |
If the price of groceries increased by 20%, its sales decreased by 10%, what will be the
effect on turn over (Increases /decreases).
A.5%
B. 8%
C.55%
D. 20%
32. 309K 6x6=33, 8x2:=41 AR 4x5=22.5, dr 8x6=?
If 6x6=33, 8x2=41 and 4x5=22.5, then 8x6=?
A24
B.43
c.38
D. 03
33. TR 3FT $T FEU 99 FEIT FAC ST 49 F @ W [esT @ 2
What is the greatest 04 digit number which is exactly divisible by 49.
A. 9992
B. 9996
€.9994
D. 1998
34, 48, 60 @1 fardar gfaed & ?

48 out of 60 is what %
A .78
B.75
C 80
D.72




35. 3P 2.5 fhel SH & A 78.60 FUN §, A 55 el N1 @1 Heu FAT 1T 2
If the cost of 2.5 kg of homemade jam is Rs 78.60, what is the cost of 5.5 kg of jam?
ARs 173.92
B.Rs 17192
C. Rs 17292
D. Rs 17492
36.. The average of first five multiple of 9 is (H§&ar 9 & o 5 Uit H Hrad Fr grm)
A. 20
B. 27
C. 28
D. 30

37. T XS Y AR AR ¥ GARRIS S & 100 frefveer &, safd amd 3ma #77
FHH IFAR 150fF/Eer §, & qff amr & aRer suhr 3ea AR F4r R 2

The speed of a train going from Nagpur to Prayagraj is 100 Km/hr, while coming back
from Pryagraj to Nagpur its speed is 150 Km/hr. Find the average speed of the train
during the whole journey.

A. 125 Km/hr

B. 75 Km/hr

C. 135 km/hr

D. 120 km/hr

38. A, B 3R C &7 3itaa aoiet 45 Kg ¥ | I A 3R B &7 3 aaiet 40 kg & o1 B 3R

C &7 3HFd a1 43 kg &, df B &7 g5 adv |

The average weight of A B and C is 45 Kg. If the average weight of A and B be 40 Kg
and that of B and C be 43 Kg, then weight of B is ?
A. 17 kg
B. 20kg
C. 26kg
D. 31kg
39. 2000 TGA & HAUF R 5% A gt T & W 02 a8t & AT FURT sq1sT FAT
THTATY TS & AT F47 g1 ?
Find the difference between the simple and the compound interest at the rate of 5%
per annum for 02 years on a Principal of Rs. 2000/-
A. BRs
B. 105Rs
C. 45Rs
D. 55Rs
40, FUROT &1 7 &X 7 & AfG 02 ast 7 1200 FIF #r MY &g #1440 & S & |
Find the rate of interest, if the amount after two years of simple interest on a capital
of Rs 1200 becomes Rs 1440
A 8%
B. 9%
Cc. 10% D.11%




41 vy v @ & qof ¥ FRar §2
What is the full form of SLP
A. special Leave Petion (¥dera aha afewsr)
B. Supplementary Leave Petition (FTalid) faa afewsr)
C. Sundary Leave Petition (¥l T afews)

D. None of these (3788 & 1§ g
42, 9 T W F HTAT Fe1 R ¥
Where is the headquarter of the East Coast Railway is located
A. Puri (T
B. Cuttack (Feh)
C. Paradeep (YRTEM)
D. Bhubneshwar (3{82aR)
43, HRANT W R For freer #sel § |

How many divisions are there on Indian Railways
A. 66
B. 65
C. 68
D. 70
44, HRAT Y | Fel fohda S & |
how many Zones are there on Indian Railways?
A.18
B.16
C.17
D.19
45. Where is RDSO located
RDSO gl o &

A. Rai Bareli (IF ael)
B. Jaipur (SFII)
C. Bhopal (#TaTer)
D. Lucknow (IT@«3)
46. %z F7 DFIT § Fel 62
Where is the Principal Bench of CAT located
A. Mumbai (%)
B. New Delhi (% &)
C. Chennai (%)
D. Kolkata (&Ierardn)




47. &8 A H T A W9 & 3 Farey Rua g ?

Which city has 03 Zonal Railway Headquarter
A. Kolkata (FYeTahTar)

B. Mumbai (¥H«%)

C. New Delhi (7 fewelr )

D. Secunderabad (R&eTeTe)
48. 3 O vH W & fAgFd IRHS Hftadat i aRreror sraeh frae 82
What is the training period of IRHS officers selected through UPSC

A. 12 months/AfgaT

B. 06 months/AfgaT

C. 18 months/Afg=T

D. 9 months/aAfgaT

49.3d W fFasr wa oy a1 &2

Total number of Railway Recruitment Board?

A.21
B. 20
C. 19
D. 22
50.9Rd & TUH ¥ HAT Al 2
Who is the first Railway Minister of India
A. Lal Bahadur Sastri (e SgTgY A1)
B. Yaswant Rao Chauhan (I=/@d 1@ @terel)
C. Krishna Menon (0T Heiel)
D. John Mathai (ST HUTS)
51 #ATs P Bl FE ¢
Modern Coach factory is located at
A. Rae Bareli (I/T a¥el)

B. Chapra (39Y)

C.Kapurthala (FYIYe)
D. Chennai (¥+%)
52. 99 & UgdT safded ¢ Fa gardr Y |
When was the first Electric train introduced in India?
A.03,02,1925
B. 01.01,1926
C. 25,02,1927
D, 25.02,1928




53, ggal IR W oA Ry iR g we & dra gorf = |

First garib rath was run between to station

A. Pune to Nagpur (07 & ATTR)
B. Muzaffarpur to Anand Vihar (SIFRgT & e fagR)
C. Saharsa to Amritsar (FEET & HHR)
D. None of these (3577 & 1§ g)
54, fFE T W T & A A & o oz §

Which station has all three-gauge lines
A. Howrah (8TaXT)

B. Siliguri (Rafesrl)
C. Varodra (F31)
D. Mumbai (F=%)
55. Ugall AT THAUE ST FEl @ gl d dorg Y
First Shatabdi express train was run between _____to_____ stations.

A. New Delhi to Jhansi (=g f&eelr & e

B. New Delhi to Bhopal (g fawelr & sirure)

C. New Delhi to Kanpur (g f&eell & FR)

D. New Delhi to Kalka (7 f&eelt & &reieh)
56. 6r. D 3 Level-1(GP 1800) # i ¥ 3afaT fagfara wrfarny FT AT E
Who is the appointing authority for Gr. D in Level-1 (GP 1800) ?

A. Junior Scale Officer/ SfAax el HTUHRY

B. senior scale officer/ a8T daaiaTel ORI

C. TAG officer/ &fersa TRIMRIfAS ddATA3IRHNT

D. None of these/ 38 & HI§ el

57 OBC 33afdiat @ @ty sy Fer F Hwan 37 AT & fhdeh ge & S & |
What is the relaxation of age limit for direct recruitment for OBC candidates

A.03 years/ a¥

B. 01 years/ @¥

C. 04 years / @§ D, 05 years /a¥

58, Yedd SidAd Y 9T T3 U4 38 Her § ufd af qu CF fncelr et g @2
How many candidates can be appointed through Scouts and Guide quota in Gr.C per year per
zonal Railway

A.02

B.01

C.03

D. 04




59 fAfardRTe wm i &l 8 ARwa Feard Fur @

What is the medical category classification for Ministerial Staff in Railways
A. Cee-One

B. Bee-two

C. Cee-two

D. none of these

60. RRB & ¥t off shier & Rave uliers (aer 3) # o7t & wfewra &1 &

What is the % of direct recruitment (RRB) for Ticket Examiner (TE) in level 3
A.50%

B.80%
C.25%
D. None of these 3/ & ®I1$ 7@
61. 3T @ fAer FX glawr o W Rrae oer e R o @ € |
Including dependents how many members to be included in Privilege pass
A.5 members 5 TeXT
B.2 members 2 dcHT
C.3 members 3 W
D. 4 members 4 dcHT
62. Ts ATy IHIH fhde el 1 FmT o7 &7 g
For how many days TA is payable in one time
A. 180 days/ &=
B. 120 days/ f&eT
C. 130 days/ f&eT
D. 150 days/ f&et
63. 7" CPC & AR FgeTad SR fohctetr & Bl & 2

Minimum Pension Payable under 7™ CPC
A. 7500
B. 9000
C. 3500
D. 12000
64. NPS &d & @1e] g37

NPS (National Pension system) was introduced on -
A.0101,2004
B. 01.04.2004
€. 01,01.2005
D.01.01,2006




65. 8 TH & IMUR W {F adT Ader & Ruior fBmar sirar §2
Under which rule fixation of initial Substantive Pay is allowed?
A. 1313 (FR-22)
B. 1314 (FR-22A)
C. 1312 (FR-21)
D. 1311 (FR-20)
66. Yo T FHAR & FHEIH & Preanor & R Gafsa s# @oee & @Y v &g Fer A
RIS

Name the machinery formed in Railways to maintain contact with organized labour to resolve
disputes
A.PNM / & T T
B. PREW 9H
C. SBF/ wq & %
D. None of these/ 3% & #I$ g
67. 99 & TR T F AFS F A a1 B B 39 aF @A A S FHhAT 82
In case of son till what age can the parent be included in School Pass.
A.Up top 18 years 18 a¥ d&
B.Up to 15 years 15 a¥ d&
C.Upto2lyears 21 3% a&
D. None of these & ¥ H$ T
68. AT I UeUH Pl & Ao I & v 97 gar §

Divisional Railway Manager is eligible for which Metal pass
A. Silver faeaT
B. Gold o3
C. Bronze sitof
D. None of these 3% & H15 7gI
69. gud Aofr g & AT URT T Fr T 3T & fFaar gfaa e s &2
What percentage of running allowance is calculated for running staff for first class pass
eligibility.
A.30%
B. 20%
C. 10%
D. 15 %
70. Faret A 9/ & v feder awt i g dar Hr naradar @b ¥ |

What is the minimum qualifying service is required for eligibility of post-retirement
Complementary Pass
A. 20 years/ a§

B. 10 years / @¥
C. 15years/ @ D, 25 years / a§




71 0F 7R FE I F 3R e Rt & e aaet raawrer 37 g &
Upon working of one month's how many days of LAP is credited
A. 05 days / &t

B.3.5days / &

C.25days/ Rs

D. 4 days / f&et
72.MWﬁWMﬁmmw#mmmmm

What is the minimum number of employee in a factory upon which appointment of Welfare
of ficer is must
A.500
B. 250
C. 350
D. 450
73.1000 13 ¥ 3F g W TR G R e Rt Fv sl A &7 g & ?

Transfer at more than 1000Km are eligible for days joining time.
A.12 days / f&=
B. 15 days / &t
C. 08 days / f&t
D. None of these/ / 3% & H1$ el
74, Tf¥ca raenr fraa &t #1 47 &t

Paternity leave is granted for days
A. 15 days/ &t

B. 18 days/ f&eT
C. 25 days/ f&et
D. 30 days/ &
75. UF AR #F S e At H 3 AT I IEHRI 2T QT §?
Half leave on average pay (HLAP) can be granted for months at a time.
A.24 months/ Afg=T
B. 12 months/ AfgaT
€. 06 months / AfgaT
D. 15 months / AT
76. Far frgfa o Hftwd fde ol &1 @R FARAOT G g
What is the maximum limit of leave encashment on retirement
A. 300 days/ et
B. 100 days/ f&e
C. 250 days/ &
D. 150 days/ f&a




77. 98 w& W RfEFT f qoen #§ wOwan s A@at 61 anticipated RfFaar o sl &
For selection posts anticipated vacancies should be taken up to
A. 15 months/ / #fgar

B. 12 months / AfRAT
C. 18 months / #fgaT
D. 24 months / AfgaT
78. R ¥aT FT H HfAFaw fhdemr MACP & 81 &

Maximum number of financial up gradations is allowed under MACP
A.03
B.02
€.05

D.01
79. 06 FES FIH A G SR Tiar #F fFdam HLAP Hf3T 8w |

Upon working of 06 months how many days of HLAP is credited .
A. 10 days/ &
B. 15 days/ &t
C. 20 days/ &1
D. 30 days/ &=t
80.‘{%%%7}3@%%%%@{;?@%%?&%?
CCL (Child care leave) can be granted up to days
A.735 days / &t
B. 730 days/ f&a
C. 732 days/ &t
D. 731 days/ f&=t
81. APAR & qUT &9 T §?

APAR stands for
A. Annual Performance Appraisal report (Ts3Tel SRWIGHH 3Tl RUIE)

B. Annual Personal Audit Report (Tef3fel qdder Jifse Rar)
C. All Performance Appraisal Report (HTel TWHRAH 3nHeTel RYe)
D. Account Performance Appraisal Report (3/#T3¢ WHRAH el RaKE)
82, TR & A § Ffay HHART SBF # el IRl &1 Jiegere & Qe &2
what is the amount per employee given per year by the government in SBF

A, 500 Rs
B. 400 Rs
C, 200 Rs
D. 300 Rs




83. ¥ WA & Yeaw A warw AW TR (v O & Fag ARF & a7 #)
Selection committee should consist of ______ officers (gr. D to Jr. Clerk)
A. Two/ ar
B. Three/ &
C. Four / IR
D.One/ Ts
84.SC T3 ST e &g \od & ymeor & sfema e R ®

Reservation for SC & ST communities in Railway recruitment is % & %.respectively

A 15&75
B. 75415
C.104&15
D. None of these
85. a1 &3 & F &g A ~eAaA e AR g AT
What should be the minimum difference between two trade test examination
A. 06 moths / AfgaT
B. 05 months / #AfgaT
C. 08 months/ Afg=T
D. 12 months / &=
86. Yo7 aT ITERUT #1966 ¥ AR I[ARI edcl W Fal &1 fATH 1 oot g1l &
Charges for indiscipline are levelled under which Rule of Conduct Rule 1966?
A. fad/Rule- 3(i) and (ii)
B. f@#/ Rule 5
C. f@3A Irule -15A
D. faA /Rule -7
87. CAT & favig & favey gl 3rdie & 51 Fhell §
Employee can appeal in against decision/ judgement of CAT
A. High Court/ 3=d #ardTeld
B. District Court/ fSer #ararerd
C. Supreme Court/ Hafed AT D. None of these/ 379 & 1§ @l
88, DAAR 1T 1968 & dgd 3diel &1 Hftamas daT & 82
What is the time limit for appeal under D&AR
A. 45 days/ f&a
B. 50 days/ f&a
C. 30 days/ f&&
D. 60 days / f&a
89, zeaaraly 3Ty &1 dAa DAAR fATw 1968 & 3iciia v Wi ¥ ghar &

form is issued to nominate Inquiry Officer under D&AR rules 1968.
A. SF-7 B. SF-5 C. SF-2 D. SF-11




90. Yo7 AT ITeOT fAsT 1966 & 3IF[HR Movable 3 Immovable &afey i favor Bher feram
# afta &

Under which Rule of Railway Services Conduct rules Movable and Immovable property is
mentioned.

A. RTH/Rule 18

B. f@T#A/ Rule 17
C. fAT#/ Rule 19
D. faa#/ Rule 224
91.Wmﬁmmmﬁmﬁm§?ﬁm?
What is the age relaxation for ex-serviceman in recruitment from DR quota
A. Defence Service +03 years ¥+ qar +3 a¥
B. Defence Service + 04 years ¥+ JaT +4 &
C. Defence Service + 05 years ¥+ Jar +5 &
D. None of these 3% ¥ F1$ gT
2. ST R ¥ e 3 A T
What is the lower age limit for compassionate ground appointment normally.
A. 18 years/ a¥
B. 25 years / ¥
C. 20 years/ ¥
D. 21 years/ a¥
93. Yarfergfar SoreT & et 316 daT & IMERTHAT B &
What is the qualifying service for retiring pension
A. 20 years/ a¥
B. 10 years/ a¥
C.30years/ @  D.25years/ a¥
94, e FRFIOT 1 HfWFaH HAT FIT 82
What is the maximum percentage for commutation of pension
A. 40% of pension / 92T T 40%
B. 60% of pension/ 92 & 60%
€. 50% of pension/ 42T #T 50% of
D. None of these/ $7H & &I 6!
95, S @d 9T PNM & HEgeT Hid g1 &
Who is the President of PNM meeting at the Zonal level
A GM/ ST TH
B. AGM/ TSTTH
C. PCPO/AENTAY D. None of these / 78 & H1§ g




96. 9§ HLT Y & Hel YAy H1 a1 F47 §
Name the present GM of ECR
A. Sri Tarun Prakash #Y d&or wahrer
B. Sri AK Khandelwal #Y ¥. &. @3ware
C. SriL.C. Trivedi #Y ver . frady
D. Sri Anupam Sharma 4t 3a# 2T
97. MACPS & ddel AeT & a1 g3
MACPS was introduced by which pay commission
A.5"
B.6"
£

D. 4™
98. NFIR foet # & fohedy wodey ¢

By which organization NFIR is related
A. Hind Mazdoor Sabha fgeg #FSigy &1
B. Bhartiya Mazdoor sangha HREIT FHsTgX "@a
C. Indian National Trade Union Congress fSae e &3 gfAde HoE
D. Indian National Congress $f3de A2l FIF
99. Where is the headquarter of South East Central Ra
Zfaor qf AeT Y@d F JTed e e ?
A. Bilaspur faemaqy
B. Hajipur 8TST9X
C. Jabalpur ST&elqY
D. Secunderabad f&HeTEG

100. PNM &7 qof &9 T §?

what is full form of PNM
A Permanent Negotiating Machenery (¥T$ arar a)

ilway is located

B. Proper Negotiating Machenery (STaX ardr &)
C. Partial Negotiating Machenery (ATRTarer ardt &)
D. None of these Sa# & 15 g
101, TTHATST HIAET & TYA IHeET Py & ?
A & St W
B. SaTgY Tl 7%
C. A7 991G
D. 3R H 1§ eI
102, &g @R & FHafedr & Tonmr A # gt g fhae aremwA fauiRa § 2
A TH B.& C & D R




103. 7 Rl afdfa & sy st @y & 2
A. T HAY
B. I &
C. Tsgufa
D. R & F§ ALY
104, TST3IST Y FHAT WA & v deeg @ & 2
A. 30
B. 40
¢. 50
D. & ¥ % At
105. TSTHST WX aT¥e HAFH i FT HIGT IR AT § ?
A. T8 HAO
B. fager #ae
C. W #HIST
D. 3/ & HIS AT
106. I§ 1976 & AT THET ST AT & HedeT HlaT T ?
A. 3F Agar
B. 3tcer fagrr aroraAr
C. sfexr ey
D. 35/ & FIS gl
107. 3EUTTS T T ISTHTST AT § ?
A. 3§
B. 3735
c. &
D. 38 & 1§ A
108. &Y AT ey fGaw &a AART Sl &
A. 12 faareR
B. 14 fadst
¢. 18 f@det
D. a8 & FIg A6l
109. TorseT HfOfags 1963 a TAfer g3m ?
A. 1966 B. 1967 C. 1968 D. 1969
110, T HY & YA T 87
A & B Ed ud 35 ¢ B vd HASHD. g1 ¥ A A




SET -C

QUESTION PAPER FOR LDCE 16.66% PROMOTIONAL EXAM OF MINISTERIAL
CATEGORY IN LEVEL-2

FULL MARKS-100 (each question carries 01 marks) TIME- 02 Hrs.

01.Select the pair from the options which has the same relationship
PAIN: SEDATIVE
A. Comfort: Stimulant
B. Grief: Consolation
C. Ache: Extraction
D. None of these
02. Select the pair which has same relationship
LIGHT: BLIND
A. Speech: Dumb
B. Language: Deaf
C. Tongue: Sound
D. Voice: Vibration
03.Find the correctly spelt word

Adulation
Adlation

Aduletion
Adulatien

oo w>»

04. Find the correctly spelt word

A. Affedevit
B. Afidevit
C. Affidevit
D. Affidavit

05. Find the correctly spelt word

A. Excessive

B. Exccessive
C. Exxcesive
D. Excesive
06.There are views on the issue of giving bonus to the employees.
A. Independent
B. Divergent
C. Modest
D. Adverse
07. He has people visiting him at his house because he fears it will cause
discomfort to neighbors,
A. Curtailed
B. Requested
C. Stopped
D. Warned




08. Ramatook his
A. Avenge
B. Vengeance
C. Revenge
D. Ravage
09.He gave a talk
A. Of
B. On
C. For
D. Off

10. The kitchen is --------- the back of the house.

A. About
B. In
C. Of
D. At

for the wrong done to him.

the cause of dengue fever.

Correct the underlined part of the following sentences (Q.No. 11 1o 13)

11.The man to who I sold my house was a cheat

A. To whomT sell.
B. To who I sell

C. Who was sold to
D. To whomI sold

12. He is too important for tolerating any delay.

A. To tolerate

B. To tolerating
C. At tolerating
D. With tolerating

13.  The small child does whatever his father was done

A. Has done
B. Did
C. Does
D. Had done
14. The child died Cholera.
A. At
B. For
c. Of
D. With
15. Catching the earlier bus will give us the
A. Chance
B. Luck
C. Possibility
D. Occasion
16.I saw a of cows in the field.
A. Group
B. Herd
C. Swarm
D. Flock
17. The grapes are now
A. Ready
B. Mature
C. Ripe D. Advanced

enough to be picked.

to do some shopping.




18. Choose the synonym of the word MASSIVE
A. Lump sum
B. Strong
C. Gaping
D. Huge
19. Choose the synonym of the word DEFER
A. Postpone
B. Defy
C. Indifferent
D. Differ
20. Choose the synonym of the word CANCEL
A. Abolish
B. Approve
C. Allow
D. Break

PART B (Arithmetic and GK pertaining to Railways)
21 3R TR A FT AT 20% TG & N, IHH BB 10 % e A ¥, A FA & IA¥W

W FHEHN FIT O Y33 (SSaM/Ere) |
If the price of groceries increased by 20%, its sales decreased by 10%, what will be the
effect on turn over (Increases /decreases).
A.5%
B. 8%
C.55%
D. 20%
. 3T 6x6=33, 8x2=41 3R 4x5=22.5, aY 8x6=?
If 6x6=33, 8x2=41 and 4x5:22.5, then 8x6=?
A24
B. 43
c.38
D. 03
23.. Wﬁﬁéﬁrmaﬁmm\?ﬁ%#@m fasrsa gr 2
What is the greatest 04-digit number which is exactly divisible by 49.
A. 9992
B. 9996
€.9994
D. 1998
24, 48, 60 &1 faraan wfaerd &2
48 out of 60 is what %
A .78
B.75
C 80
D.72




25. W 2.5 el S &1 Iew 78.60 ®uA &, & 55 et N7 1 AT FAr gom

If the cost of 2.5 kg of homemade jam is Rs 78.60, what is the cost of 5.5 kg of jam?
A.Rs 173,92
B.Rs 17192
C. Rs 17292
D. Rs 17492
26.. The average of first five multiple of 9 is? (#%T 9 & wora 5 Ut &1 A F41 gam)
A. 20
B. 27
C. 28
D. 30
27T YIS F¥ AR AR A TIAERTST T F 100 Flifeier ¥, @l amow Iy qHT SHA
TFAR 150fFa/eer &, at qfr amr & R sy aaa IraR /T 82
The speed of a train going from Nagpur to Prayagraj is 100 Km/hr, while coming back
from Pryagraj to Nagpur its speed is 150 Km/hr. Find the average speed of the train
during the whole journey.
A. 125 Km/hr
B. 75 Km/hr
C. 135 km/hr
D. 120 km/hr
28.A, B 3R C &7 30d a5t 45 Kg & | afe A 31K B &7 3\ aoiet 40 kg & a7 B 3R C
&1 A ET d9i 43 kg &, dF B & a9 &dIv |
The average weight of A, B and C is 45 Kg. If the average weight of A and B be 40 Kg
and that of B and C be 43 Kg, then weight of B is?
A. 17kg
B. 20kg
C. 26Kkg
D. 31kg
29.2000 9 & HUA W 5% al¥eh &1 H & W 02 auf & v AURer sarsr aur awfafy

TS FI AT FIT gEI?

Find the difference between the simple and the compound interest at the rate of 5%
per annum for 02 years on a Principal of Rs. 2000/-
A. BRs
B. 105Rs
C. 45Rs
D. 55Rs

30 BYROT &ars $T &7 A Y & 02 ast # 1200 T $r Wl 75 W 1440 @ ok & |
Find the rate of interest, if the amount after two years of simple interest on a capital
of Rs 1200 becomes Rs 1440
A 8%
B. 9%
C. 10% D.11%




31.3muT gfeRid #Y quRea # & [{dn
Half percent, to be written in decimals as -
A 02
B. 0.005
C. 002
D. 005
32 e H SEEr, wfaay 4% f @ A 97 @ ¢, AR swH adHT TAEEt 50,000
g, ar a ast & ag 3uH FaEEr F7ar e
The population of a town increases every year by 4%, If its present population is 50,000,
then after 02 years it will be?
A. 53,900
B. 54,000
C. 54,080
D. 54,900
33,41 FEAT 1:2:3 & 3ad & §, qU g AgaA wAESH (HCF) 12 &, af d&ar aard|
Three numbers are in ratio 1:2:3 and their HCF is 12, the numbers are
A. 122436
B. 11,22,33
C. 122432
D. 510,15
34.fET glieT & 80% fagarf e vy & urw A1 &, qur 85% faeardt v fww &
a1, I 73% facamdf Qe fawat & o @ € o e gfarera faeandt @t Rt
AST AT |
In an examination 80% candidates passes in English and 85% candidates passed in
Mathematics. If 73 % candidates passed in both these subjects, the what percentage of
candidates failed in both the subjects.
A. 8% B. 15% C. 27% D. 35%
35.1000 ¥4I & HoU" T 20% i a¥ T 71 & W 18 7T & fav awgfy sarer &r
T FY, e SqTST T VAT TAGT HTUR G &7 AT & |
Find the compound interest on Rs 1000 at the rate of 20% per annum for 18 months
when interest is  compounded half yearly.
A. Rs1331
B. Rs331
C. Rs320
D. Rs 325
36.0% FEfHd F1 2850 F9F H U W U GHEGR H 14% T 1 @Im &, AT ag el
AT eT FT 8% HT oidl ¢ o 36 wsfeher & faswa AEw &= gem
By selling a bicycle for Rs. 2,850, a shopkeeper gains 14 %, if the profit is reduced to
8%, then selling price will be.

A. Rs 2600
B. Rs2700 (C.Rs 2800 D.Rs 3000




37.U% IMEHY &) FHT AT &, UAH F 1200 FYA F |[Ua Y AW 9T I 20 % F ATH @
€ U GEY A AT W IN 20% H @ Al {) v @ @y ar Wy # wmy av gy @
gfaerd | |

A man sold two chairs at Rs. 1200 each. On one he gained 20% and on other he losses
20%. In this transaction his total gain or loss is?

A. 1% loss (g1fa)
B. 2% loss (g1f)
C. 4% loss (g1fa)
D. 15% gain (ams1)

38 Raa e 1 Y-

Find the missing term in the series
EARTH: HDUWK: VENUS:

A. YQXHV

B. YHQXV

C. YQHXV

D. YQHVX

39.Raa v & &Y -
What is the term in the given series-
4A,4Z,12B,12X,36 C
. 36W
36Y
. 36V
. 36V
40.RFa v @ oW -
Find the missing term
172,343,102, 4
A. 204
B. 408
C. 256
D. 456
41.7T= Fra Bl FET ©
Modern Coach factory is located at
A. Rae Bareli (Trg a¥d)

B. Chapra (&97)

C Kapurthala (F93Yer)
D. Chennai (%)




42, ¥R A vgelt FAfdeH ¢ Fa Taarly i |
When was the first Electric train introduced in India?
A.03.02.1925
B.01.01.1926
C.25.02.1927
D. 25.02.1928
B ol e W RHFE WK By v & &g gerh a2 |
First Garib rath was run between to station
A. Pune to Nagpur (707 & F1TRR)
B. Muzaffarpur to Anand Vihar (5T & 3HafaeR)
C. Saharsa to Amritsar (¥g3ET ¥ IHA)
D. None of these (3577 ¥ F¢ 7gY)
44. 59 VI W W0Q & &t A7 & W03 aeeT §
Which station has all three-gauge lines
A. Howrah (gTaRT)
B. Siliguri (Rfeemrl)
C. Varodra (33¥exT)

D. Mumbai (%)
45. Tgell AT UFENH o7 gl ¥ FEl b TS AT
First Shatabdi express train was run between to stations.

A. New Delhi to Jhansi (=g fewelr & e
B. New Delhi to Bhopal (=g fewelr & #farer)
C. New Delhi to Kanpur (=g Reell & #aqR)
D. New Delhi to Kalka (=g fewelr & arera)
46. Gr. D ST Level-1 (GP 1800) # g § 3T ﬁgﬁ?—l’ IR i 81T §

Who is the appointing authority for Gr. D in Level-1 (GP 1800)?
A. Junior Scale Officer/ SfaX Fhet fUFRY

B. senior scale officer/ aqT dd=TAT JHfOHRT
C. JAG officer/ Hfess TemeIfad AqAATARTERY
D. None of these/ 38 & $15 g
47. OBC 3rafat @1 Aty s dler # HfOhad 37 dar & el g & omehr |

What is the relaxation of age limit for direct recruitment for OBC candidates
A.03 years/ a¥

B.01years/ a§
C. 04 years / a4 D, 05 years/a§




48. YAF SNeTel WA W 3T vd e Aer A ufy a¥ qu CF frael areht g

How many candidates can be appointed through Scouts and Guide quota in 6r.C per year per
zonal Railway
A 02
B. 01
C.03
D. 04
49 RAEARTT ww $ir 8q ARFHT Fearldr ar
- What is the medical category classification for Ministerial Staff in Railways
A. Cee-One
B. Bee-two
C. Cee-two
D. none of these

50. RRB & @t sl ey & Reave qlvers (Qaer 3) & o1t 7 gfeerd &7 &

What is the % of direct recruitment (RRB) for Ticket Examiner (TE) in level 3
A. 50%

B. 80%
C.25%

D. None of these 35/ ¥ #1$ &
51.TF TS df T qUT ®9 &r &2
What is the full form of SLP
A. special Leave Petion (¥93rel g afewa)
B. Supplementary Leave Petition (Gceli@igr foa afewer)
C. Sundary Leave Petition (el forg afewer)
D. None of these (3578 & &I =g
52. 99 dEIT Ydd HT AT gl U §
Where is the headquarter of the East Coast Railway is located
A. Puri ()
B. Cuttack (&)
C. Paradeep (9RTIEM)
D. Bhubneshwar (3e12aR)
53. SR YAd W Fel fohdel #3H ¢ |

How many divisions are there on Indian Railways
A. 66

B. 65

C. 68

D. 70




54. WA Yo W F v et § |

how many Zones are there on Indian Railways?

A. 18

B. 16

C. 17

D. 19

55. Where is RDSO located

RDSO gl fua ¥
A.Rai Bareli (7 ayel)
B. Jaipur (SAR)

C. Bhopal (&rqre)

D. Lucknow (c7@«3)
56. T F1 Riffuer & a7 &

Where is the Principal Bench of CAT located
A. Mumbai (Fa%)
B. New Delhi (78 ool
C. Chennai (¥+13)
D. Kolkata (&hIehrdr)
57. 78 AT # I Aaer W0 & 83 Fae Bua
Which city has 03 Zonal Railway Headquarter
A. Kolkata (ererrer)
B. Mumbai (He3)
C. New Delhi (=g feeel)
D. Secunderabad (FRA&HIETE)
58. g Ot vy @ & fAgFa IRHS AT $ir gRaror 3aeh fraeh &2
What is the training period of IRHS officers selected through UPSC
A. 12 months/Afg=T
B. 06 months/&AfgaAT
C. 18 months/AfgaT
D. 9 months/ATg=T

59. 34 9 fohde To/d $ a8 87

Total number of Railway Recruitment Board?
A 21
B. 20
C. 19
D. 22




60.9Rd & YUH (& #N #l A

Who is the first Railway Minister of India
A. Lal Bahadur Sastri (S1er agigy eme)

B. Yaswant Rao Chauhan (aerdd 1@ =)
C. Krishna Menon (0T #eter)
D. John Mathai (Sfe #uT)
61 TF QN FF & & IR et Rt a7 g daer sraarer 37 2xar &

Upon working of one month's how many days of LAP is credited
A.05 days / e

B.3.5days / et
C.25days &
D. 4 days / R
62. fHe Wl & A HGE A g 3g 77 O P Roawr FHTA @ TRT

What is the minimum number of employees in a factory upon which appointment of Welfare
officer is must

A. 500
B. 250
C. 350
D. 450

63. 1000 Hr.A. & HfF gl W TR @ | rdr Rt 7 ST e 27 2ar & 2

Transfer at more than 1000Km are eligible for days joining time.
A.12 days / fea

B. 15 days / f&a¥

C. 08 days / e

D. None of these/ / 3a& & &S FgT
64. Tf¥ca gemer fFaa =t & &7 gar &

Paternity leave is granted for days
A. 15 days/ T

B. 18 days/ f&eT
C. 25 days/ &=
D. 30 days/ &
65. UH I # AfUwaA e AT #1 3red aa daer raerer 7 @ar B2

Half leave on average pay (HLAP) can be granted for ___ months at a time.
A.24 months/ ATgaT

B. 12 months/ AfgaT
C. 06 months / AfgaT
D. 15 months / Afgar




66. ar Aafd 9v ftwan Bra Rt &1 raamer swdaor 3 g
What is the maximum limit of leave encashment on retirement
A. 300 days/ e

B. 100 days/ R
C. 250 days/ R#
D. 150 days/ e
67. muﬁwﬁﬁaﬁmﬁmmmﬁamicipatedﬁﬁ?mﬁ?raﬁ?r?

For selection posts anticipated vacancies should be taken up to

A. 15 months/ / AfRgaT
B. 12 months / AfgaT
C. 18 months / &AfgaT
D. 24 months / #fgaT
68. X FaT F1eT # HWhaH R MACP 3 81 &

Maximum number of financial up gradations is allowed under MACP
A.03
B.02
C.05
D. 01
69. 06 HET FH I T ITHRN Wi & fhcdam HLAP Hfe @ |

Upon working of 06 months how many days of HLAP is credited.
A. 10 days/ &1

B. 15 days/ f&a
C. 20 days/ &1
D. 30 days/ f&1
70. QX a1 el F HOTH e el @1 Ry weer s 27 @ ¥

CCL (Child care leave) can be granted up to days
A.735 days / &

B. 730 days/ &
C. 732 days/ &
D. 731 days/ e
71 3nfAdt @1 fAer #T giaur o o fhde S anfae R o weRd ¥ |
lincluding dependents how many members to be included in Privilege pass
A. 5 members 5 HGFT
B. 2 members 2 HEHY
C.3 members 3 HEHJ
D.4 members 4 HEHH




72w o Hfwaw fraa Rat & arar sar g
For how many days TA is payable in one time

A. 180 days/ f=

B. 120 days/ e

€. 130 days/ &1

D. 150 days/ &=

73. 7" CPC & HTER FYFAH Fee el &7 ger 2
Minimum Pension Payable under 7" CPC
A. 7500
B. 9000
C. 3500
D. 12000
74. NPS &3 § & g3
NPS (National Pension system) was introduced on -
A.0101.2004
B. 01.04.2004
€. 01.01.2005
D. 01.01.2006
75. T8 U\ & YR W A daa oo &1 BuRoer fear sar &
Under which rule fixation of initial Substantive Pay is allowed?
A. 1313 (FR-22)
B. 1314 (FR-22A)
C. 1312 (FR-21)
D. 1311 (FR-20)
76. 39T T FAANA F FAESH & AEARVT & v Fofsa s Hea & A A ¥ Sl @
7l
Name the machinery formed in Railways to maintain contact with organized labour to resolve
disputes
A.PNM / 9 T TH
B. PREW 9&H
C. SBF/ TH & TH

D. None of these/ 3# & &5 g
77.97 & Thod U & AHA # A AT # e 37 q@ @fAe v s owsar @

In case of son till what age can the parent be included in School Pass.
A.Up to 18 years 18 ¥ d&

B.Up to 15 years 15 a§ a&
C.Upto2lyears 21 @ d&
D. None of these 47 & &I§ ¢l




78. A X aUE FleT A Aol 9w & AU g7 @ar &

Divisional Railway Manager is eligible for which Metal pass

A. Silver {eaT
B. Gold Moz
C. Bronze §ia

D. None of these 38 & #1$ FgT
79. s Aol arF & AU WA T Y AT ersw F e i heT Sar 82
What percentage of running allowance is calculated for running staff for first class pass
eligibility.
A.30%
B. 20%
C.10%
D. 15%
80. JAIR A 9 & fov e avt €1 38 Jar i 3maegshar @ ¢ |

What is the minimum qualifying service is required for eligibility of post-retirement
Complementary Pass
A. 20years/ a¥

B. 10 years / a¥
C. 15years/ a¥
D. 25 years / ¥
81. e At & el HR Frer # 37 # el ge & ol &

What is the age relaxation for ex-serviceman in recruitment from DR quota
A. Defence Service +03 years = ¥ar +3 a¥

B. Defence Service + 04 years d ddT +4 a¥
C. Defence Service + 05 years 3= &ar +5 a¥
D. None of these 3a& & #15 Agr
82. ¥ dT A ¥ weAdH 3A HIAT T &2
What is the lower age limit for compassionate ground appointment normally.
A, 18 years/ a¥
B. 25 years / @§
C. 20 years/ a9
D. 21 years/ ¥
83. farfagfey deret g fehcell 36 dar $ir Imavgerar gl &

What is the qualifying service for retiring pension
A. 20 years/ d§

B. 10 years/ a9
C.30years/ @  D.25years/ a§




84, Tre wifETor Y Hfrwan dar F=r @
What is the maximum percentage for commutation of pension
A.40% of pension / Y1 #T 40%
B. 60% of pension/ 92T &1 60%
€. 50% of pension/ U2t &1 50% of

D. None of these/ 3a® ¥ #1§ AT
85. ST Y& 9T PNM & 3reey @i g1 &

Who is the President of PNM meeting at the Zonal level
A.GM/ S TH

B. AGM/ TSfitH

C. PCPO/ENTIAT D. None of these / 38 & 1§ A8

86. 94 HYY Yo & FET YaUH H A FT §
Name the present GM of ECR

A. Sri Tarun Prakash #f d&oT Semrer

B. Sri AK. Khandelwal 4T ¥. &. @Wserare

C. SriL.C. Trivedi # Ter.®Y. f3adr

D. Sri Anupam Sharma A 3/qa AT
87. MACPS e et AT & dTef g31

MACPS was introduced by which pay commission
A. 5™

B. 6™
o
D. 4™

88. NFIR fas= # ¥ frely Goeigqy ¢
By which organization NFIR is related
A. Hind Mazdoor Sabha f&eg #Hsigy T

B. Bhartiya Mazdoor sangha $IRclg #sigy €

C. Indian National Trade Union Congress &f3aa aieriel ¢3 s Fia
D. Indian National Congress 3f3de aereTer Hidr

89. Where is the headquarter of South East Central Railway is located
af&ror gd ALy ¥dd 1 HEAGT Fal ¢ ?

A. Bilaspur faemaqy

B. Hajipur gTigT

C. Jabalpur S&elq

D. Secunderabad fA@crEg




90. PNM & Qo &9 aar &
what is full form of PNM
A. Permanent Negotiating Machenery (¥u1§ ard &)
B. Proper Negotiating Machenery (STa¥ ardl @)
C. Partial Negotiating Machenery (afRiarer ardt &)
D. None of these 38 & # g
91. APAR & quf &9 & §?
APAR stands for
A. Annual Performance Appraisal report (Ts3iel TRORIAE HTel Raé)
B. Annual Personal Audit Report (Tef3fel qiieer 3ifde RaE)
C. All Performance Appraisal Report (3Tl TRWIRAH 3drorer Rare)
D. Account Performance Appraisal Report (T3¢ THRAT 3THaTel Rere)
92. THR $ TR § iy FHARY SBF # frcielt TR T el &7 @ &2

what is the amount per employee given per year by the government in SBF
A. 500 Rs

B. 400 Rs
C.200 Rs
D. 300 Rs
93. TFA FAfY & ~gAaH fFae FeET gl A1feT?

Selection committee should consist of ______ officers
A. Two/ ar
B. Three/ d1e
C. Four / I
D. One/ T
94. SC U4 ST e &g (o & IReror 1 yfoRrd shaAer: W %
Reservation for SC & ST communities in Railway recruitmentis % & %. respectively
A 15475
B. 75415
C.10&15
D. None of these
95, 2 33 ¢¥C & @ H FgAH fhaeT 3R el aIfRe
What should be the minimum difference between two trade test examination
A. 06 moths / Afgar
B. 05 months / Afgar
C. 08 months/ AT
D. 12 months / #fgaT




96. Y& {ar HTEROT AR 1966$Wmmmwmmﬁmmmm?
Charges for indiscipline are levelled under which Rule of Conduct Rule 1966?

A. TaR/Rule- 3(i) and (i)

B. f¥#/ Rule 5
C. TH /rule -15A
D. fauH /Rule -7
97. CAT & faviy & vy &gl el & 31 Fhell &
Employee can appeal in ______against decision/judgement of CAT

A. High Court/ 30 «aramely

B. District Court/ fHar =g g™

C. Supreme Court/ Fafed araTeld D. None of these/ 38 & &S eI
98. D&AR a7 1968 & dga 3rdier 1 A W 4T 82

What is the time limit for appeal under D&AR
A. 45 days/ &t

B. 50 days/ &t
C. 30 days/ &=t

D. 60 days / &t
99. Wmﬂmmﬂwmoammw1%8$mmqﬁﬁwm%

form is issued to nominate Inquiry Officer under D&AR rules 1968.

A. SF-7
B. SF-5
C. SF-2

D. SF-11
100, Yo &aT RO A 1966 & 3HTEN Movable 3R Immovable Fufer 1 faavor v f@aw

# aftiq g2
Under which Rule of Railway Services Conduct rules Movable and Immovable property is

mentioned.

A. fFA/Rule 18

B. f&g#/ Rule 17

¢. @A/ Rule 19

D. f@#A/ Rule 22A

101. TSTHST AT & YA HEGeT i & ?

A @& S @
B. SaTeY dTd #Ag%
C. USlg 9a1G
D. A7 ¥ 1§ A¢T




102. &g TSR & FHARE & o 7 7 gfr &g Praer areuwa il & 2
A TH
B.
C. da
D. IR

103. ¥ B A & ez AT A € ?
A. TUTT HAT
B. 7§ &A1
C. Isgufa
D. 377 § IS A&

104. TSIST & THET FART F e FeET @ € ?

A. 30
B. 40

C. 50
D. 378 & FIS el
105. TSHIST G ATE FEHA FeT T HIET FIR AT & ?
A. I FAE
B. faeRr #d0 T
C. T HAGT
D. 57 & FI G
106, 3§ 1976 ¥ ST TAAT TTHINT ALY & HeAeT HieT I?
A. A AT
B. 3rcar fagrdy arsradr
C. Sfexr aimefr
D. X & FI$ AL
107. 3EOTES Y& dY IASTHIST AT § ?
A 3G
B. 3t
c. f&ér
D. 3AH & FI$ el
108. g7 AT f&dY aw Fa Aamn ST &
A. 12 faaret
B. 14 faday
C. 18 fadet
D. 3# & FIg AT




109. s yfafags 1963 wa @nfaa gam ?
A. 1966
B. 1967
C. 1968
D. 1969
110. SR FE Hr JSTHNT T 8?2
A. &
B. &Y wa 3¢
¢. f&dr wa 3t D. o7 & FE
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